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3)18,6

[ ]=36+2=18
2)18 : 15 = [ | : 5 A
15x[ |=18x5

[ J=90+15=6




D 1x1x3.14x 2.5 =7.85(cm?)

@ 2.5%x2.5x3.14 x 3 = 58.875(cm?)
® 2x2x3.14 x4 = 50.24(cm?)

@ 2x2x3.14x3.5 = 43.96( cm?)
®1x1x3.14x5=15.7(cm?)




@ xxy=10: SHa]E LA
@y=x
@Dy=2xx
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@ 7F=9] Zol7t xem, Al22] Ao]7F 4em Q) A 9]
=919 dol= yem

© FA7F300gQ! IR0 & xgE B o, AA
A= yg

® 1L 1568 ¥4 3t= 3 xLo ghy o

® A& xkmZ ykme 2= AEl= AR 4 A7

® F&=7tx % 25E 300 £l £ Y= 50 F2

® BAE ] 't ¥e] do] xem 9 Hol yem?

® @ ol x 9 she Fol ye] gtol 500 €

6,066 0 ®@e. @0
® 0.6 e @ 6,0, 0
58,0, 6,0,

B

Dy=2xx+2x4

mEbA y = 2x x + 8 ¢ FH[E & FHH] = opg LT,
© y=300+ x : FH]H = T = opgd Yt

© y=1568 xx : H]=|

®y=4xx: AHF

X

mebA y = 3x x @ FH|E
@ y=xxx: ZHHZ ¥ T opg T
@ xxy=500: 2]
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ol £ gm4E A4 TAE AAFY Lokgel 5T o] &=
S8 2 wE o3 2AE AREY kgol A W SRS 3
FAE € kg A A2A|L

® 0.2kg @O.4kg ® 08kg @ 1kg ® 1.2kg

_ 2 4
As =59 S o] BAE 1.6 - = =08 (ke)

_ 1
A 2559 e O] A= 0.8 +2 =04 (kg)

A& F250 AA (3%F) o FA= 0.4 x 3 =1.2(kg)
o] BAE 1.6 - 1.2 = 0.4(kg)




